
NCERT ExAMPLAR PROBLEMS 

8) 2 colls ouoltogu 1DV and v, and mbnal osistanc 10. 

amd 5 Haptdtuely o 00meotio paroll with ihe with the 

poaitwe nd oh lov satty twudtud to nugatue pola o 

V batty Fnd th eheme ualnge and ehhdue 

HLAatam o the 
compinatton. 

R 
MW- 

I Vv 5 0 

16V 

Anause: Appling Koehoph's sumdion ule, 

I-I+ 

Applying kiuchehh's ualBogp
lau w ouctv leep (L), 

Applyng -

2V w- 

5 

1OV 

ID IR - 10I, D 

IR +10I, 10p 

Applging Kiuwhehh a v6llzg lawo in eep La, we get, 

- -IR + 51, 
-51,-IRa 

laing e0 k a, 
5(1-I)- IR 2 

5I- 5I- IR



Aolbuirg enond un , 
wubtrasing x(ugm-®) - (tm) 

3IR +1DI6 

I(R+103) .2 

Cormparing with V I (R* Rebh) , we hau 

Cpnpaung EheotinenDna siutanc 103 
cells 2V 

Ebhustiue veltnge o the culls 2V 



{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

